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Note :— Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
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l. (@) Explain income method of calculating GDP. 12

P.T.O.
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Write short notes on any fwo of the following : 44
() Factor cost.and market price
@) .Gross domestic capital formation
(iify Economic growth.
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What do you meari by aggregate expenditure ? Distinguish

between movement along and shift of aggregate expenditure

function. 438
Given the following data for an economy : 44
Consumption function C= 1-00 + 0.50Y
lnvestment\ ‘ I = Rs. 100 crores
Government Expenditure G = Rs. 150 crores

Calculate the f(_)l]owing :

() Consumption at equilibrium level of Income.

(i) Savings function.
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What is net export function ? What determines the slope
of net export function ? 8

Show the determination of equilibrium level of -income

in an open economy with government through saving

and investment approach. 12

P.T.O.
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(@) What is aggregate supply ? Why SRAS curvé is positively
;loped 9 » 37
(b) Explain thé relationship between agg.rege}te expendi'.cure
curve and aggregate demand curve. ld
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(a) Explain the Quantity Th%ory of Mdney. 10
b that do you mean by demand for money ? How is

speculative motive related to wealth and interest

rate -7 3.7



What s current account deficit 2 How s this deficit

i
financed 9
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What is meant by fixed exchange rate System ? Explain

its merits and demerits. 11
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Starting, with an economy above or below the potential GDP,
explain how the ecdnomy eventually adjusts back to potential
output in the two cases. How fiscal policy can be used to

restore the potential GDP ? - 20
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